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BACHELOR OF SCIENCE (B. Sc.) 
Term-End Examination 

June, 2019 
LIFE SCIENCE 

LSE-02: ECOLOGY 

Time : 2 Hours 	 Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 7. 

1. (a) Fill in the blanks with the appropriate 
words given in the parentheses : 	5 

(i) Study of the ecology of groups or 
communities in relation to their 
environment is called 	 

(Autecology/Synecology) 

(ii) The 	 zone includes areas too 
deep to be penetrated by light useful 
for photosynthesis. 

(profundal/limnetic) 

(iii) Shade loving plants are called 	 
(heliophytes/sciophytes) 

(iv)	 grow in moist habitat and 
well aerated soils. 

(Xerophytes/Mesophytes) 
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(v) 	 is defined as the process by 

which water changes from vapour 

phase to liquid state. 

(Condensation/Sublimation) 

(b) State whether the given statements are 

True (T) or False (F) : 	 3 

(i) The processes involved in the 

formation of soil are rapid and 

discontinuous. 

(ii) Plants absorb water from the soil and 

this reduces quantity of moisture in 

the soil. 

(iii) Exponentially 	growing 	animal 

populations can overshoot the carrying 

capacity of their habitat. 

(iv) Dodo was the first animal species 

whose extermination is not fully 
documented. 

(v) IUCN has established two categories 

of threatened species. 

(vi) Traces of ozone (Os) in the air are 

harmful to plants, animal and human 

beings. 

(c) Define the following : 	 2 

(i) Habitat Ecology 

(ii) Transpiration 
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2. (a) Describe the ecological adaptations in 
animals to aquatic environment. 	5 

(b) Discuss the process of soil formation. 	5 

3. (a) Explain the concept of tolerance range and 
limiting factors. 	 5 

(b) Describe the various types of food chains 
by giving suitable examples. 	 5 

4. What is biogeochemical cycle ? Explain its 
importance. Explain nitrogen cycle in nature. 

3 + 2 + 5 

5. (a) What is Succession ? Describe the various 
processes involved in succession. 	1 + 4 

(b) What is Herbivory ? Discuss the 
mechanisms evolved in plants to 
discourage predation. 1 + 4 

6. (a) What is Wildlife ? Describe the various 
threats for the survival of wildlife. 	1 + 4 

(b) What is Pollution ? Explain the various 
causes of water pollution. 	 1 + 4 

7. Write short notes on any two of the following 

5x2 
(a) Natural and Artificial Ecosystem 

(b) Species Diversity 

(c) Genetic diversity of the population 

(d) Estuaries 

P. T. O. 



[ 4 ] 	 LSE-02 

i1. Vr. ,-02 

NO 11 t•I I 	 71- 4*. 

ill id ITTIVT 

1, 2019 

Tfr127 

7R. Vt. t-02 

: 50 

: 	 ro4 ich 

3TAIM—dri 
: 2 

9")E" 2 # 7 7:1 : 	$1q-1 	-Ii_s041 1 3-if UTri *1 	TiLall 

WIT * 	V< 51F3N1 

1. 
k 1m41 (*) .0E3-4 1 kl4 	A d std 

5 Rchi P-T191 : 

(i) Tripi /ll Tri-1-4-1 	-crifkiTef-d4-  

	

yt1raZUI*9-i 	3lurzi9 	 

cbructi 

(1zrzfrrkft-efm1/#4111#24frA) 

(ii)	 iiusrt -41 -t4 	tra * 	lo4 

	 uctnktkiktitil 

mi 	l I •e lid 

	

( 	ttisr(/ 	ea.>) 

(iii) oiqf 4R-4 1:11.6 	 *quia tI 

    

) 

    

 

J 	 • J 

 

  

    

(A-39) 



	

1 5 	 LSE-02 

(iv) 	 9i 3T141111 weg Tgrft-d 1 r34 

d41 	 ti 	(zililLbi§e.,q/44144,1) 

(v) iii ii 	f** Art a-r64 

am -1r 	a 31aTtl1 	Gicc4 sitor 

	

iit414/didl ch 	(U 1) 

	

(1g) 11-'1 Ci kgrf Teri 	la Kitt 1c1I L : 3 

(i) TIT fff141111 	31Ff MTT 3114-Tqs  

6141 ti 

(ii) 111'4 	wa argRili-Erff 	 

roles 	'91:ft 	TIM 

	 ti 

(iii) blIcl 	 It awit 	uiti• 	k1 41 beta'  

d'icg 37ran:r 	an km-TT 

aTf-d- um 	*1 
(iv) 5 5 	11601 31Tull %Iifii eft fql:1-4 

ftrqi 	TRfr4q. 	 11( 

9 icntif 

(v) 3 71, 	7. auc 
wr-d-44 	*(1-Errzr, wil ti 

P. T. 0. 



[ 6 ] 	 LSE-02 

(vi) ari 4 3i a. (03 ) wl Tip& Hi* 4-  
-743-11 3-11 -{ 1-13t411 

(IT) f14-1 ti tact V' 'EffTviTriT "W{KR : 	2 

(i) 31T4RT Tilf1:21W 

(ii) cilt.141M4-1 

2. (W) 7tEf cficlicituf   3T1ivp41 	Tirf-&-P-ifaV 

	

wr auk VI—A-RI 	 5 

(IN) IFT 	311rr V-  rad -ail W4R1 5 

3. ('i ) TlirsuldT 4ritit 'ffP.1Tti1 'ii - f 	deb.):  V'  
44) 1 	raft Vr #14-1*-041 	 5 

(V) VITO.  dqlZtulf 	tiZititil 	fa-fiT-.  A4 R 

3lr-4-R AP3MI3IY VI gull WINRI 	5 

4. *41-17(ifzfrffW *WW aza 	? 	iizcci 

wlf-A-71 3r fa 	-llq0 ,314 	wr auk 
3+2+5 

5. (T) 3rlwgr4 	wErt 3TriT5F1 * ? ari-oTur 
wrfgm 	3tiWzrrail w auk V-1---4Ri 

1+4 

(A-39) 



[ 7 ] 	 LSE-02 

(W) qllehl61 	*ER * ? 	=1 ~t91rIIr 

mirid 4) ,(4 	iconitici fwqrf-aftpil 
f44-4-4F w11-4R1 	 1+4 

6. (T) cfreivila-f 1z11 	?  	lot ctor 
W1-19' (gcva 	1)fff 	 1+ 4 

(w) nauf 	WU 315-11TeT 	? 	Nivitrf 

cnituiY t odotaqi wiN7i 	1 + 4 

7. rvirci fah-61 	111 TAM' 

foflaq : 

(v) m 	'14 411C17( 

(w) Trfd f4F4trdf 

(11) -ffIftz aTriairw feqtrdr 

(v) 	 

LSE-02 	 11,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

